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10,544,127 mw’

BRKPOMERE (F4RBOKERERER)

L T 5H 8A KL 2R EEBIE
1| 1 |EwokEtikan| L 0.05 0.05 0.05 0.05 0. 050
2| 48 E P N meL | 0.1 R 0.1 R 0.1 R 0.1 Rt 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 X\ 0.02 X\ 0.02 k& 0.02 X\
9140 m % 4 % & | me| 0.002 kF | 0.002 k& | 0.002 ki | 0.002 k#F | 0.002 k&
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1| 157|1,-cso0nx5>| m | 0.004 k& | 0.004 ki | 0004 k& | 0.004 k& | 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13179/ Db - D moL | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k&
14186 B £ *» F L > | m L] 0.02 K& 0.02 =ik 0.02 ki 0.02 =ki& 0.02 =ik
15| 287\ kBRUZDIEEW| me L | 0.0002 k& | 0.0002 k% | 0.0002 k% | 0.0002 & | 0.0002 i
16| 22| LY RUZOEEY| mesL| 0.01 R 0.01 k& 0.01 k& 0.01 k& 0.01 ki&
17| 262|  +5soozFLy| me L | 0.001 k& | 0.001 ki | 0.001 k& | 0.001 k& | 0.001 ki
18| 268 *;?‘j’;*:ﬁfg“‘) m L | 0.006 k& | 0.006 =& | 0.006 k& | 0.006 =& | 0.006 k&
19| 272| 89 & 2 t# & | meL| 0.01 K& 0.01 0.01 k& | 0.01 ki 0. 0025
20 279{ 1,1, 1-+ysnmzsy| mesL| 0.001 K 0.001 ki 0.001 ki 0.001 k& 0.001 k&
21| 280[ 1,1,2-+ysnnzsy| m L | 0.006 =X 0.006 ki 0.006 ki 0.006 ki 0.006 ki
2| 28|rysoozFLy| msL]| 0001 KiE 0.001 ki 0.001 ki 0.001 ki 0.001 ki
23| 32|MERVEOEMEEY me L] 0.01 XK 0.01 ki 0.01 ki 0.01 K| 0.01 K&
u| o B EAFRS e ] 05 kil [ 05 k@ | 05 k@ | 05 kil [ 05 Xk
25| 4000 R L £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
26 405\ £ 5 F £ & ¥ | mL 0.05 0.08 0.07 0.05 0.063
27 46| P ¢ B me~L | 0.0005 5% | 0.0005 k% | 0.0005 k& | 0.0005 & | 0.0005 i
28| a2 AVRUEDIEEY| meL 0.02 0.02 0.02 0.02 0. 020
29| 632|1,2-somzFLux| msL| 0.04 K& 0.04 X\ 0.04 X\ 0.04 Xki& 0.04 k&
|67 MRz EY| L] 0.01 K 0.01 R 0.01 K 0.01 K 0.01 K

KBUE~RBILERGNBESERERESED DAEICL YHHKDFRREEZRELBEICEVT. TOREVPLIRESEZOEERFETHS

SETHY. TREShBULIE) EBHBT,

itk
NP2 B O o & W OB HEHE (MUK~ DHEH) [EHSIE
11 | EokBEHELLESH| 10544127 x 0050 ~ 1000 = 530 kg ( 527.2 kg)
201272 $A K B t& /& | 10544127 x  0.003 /1000 = 26 kg ( 26.36 kg)
281405 I 5 % & & ¥ | 10544127 x  0.063 /1000 = 660 kg ( 664.3 kg)
30 |412|R Y HVRUEFDIEH| 10544127 x  0.020 /1000 = 210 kg (210.9 kg)




RMSERE

NG

341,719

3
m

BRKPOMERE (F4RBOKERERER)

L T 5H 8A KL 2R EEBIE
1| 1 |EwokEtikan| L 0.06 0. 04 0.04 0.05 0. 048
2| 48 E P N meL | 0.1 R 0.1 R 0.1 R 0.1 Rt 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 X\ 0.02 X\ 0.02 k& 0.02 X\
9140 m % 4 % & | me| 0.002 kF | 0.002 k& | 0.002 ki | 0.002 k#F | 0.002 k&
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1| 157|1,-cso0nx5>| m | 0.004 k& | 0.004 ki | 0004 k& | 0.004 k& | 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13179/ Db - D moL | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k&
14186 B £ *» F L > | m L] 0.02 K& 0.02 =ik 0.02 ki 0.02 =ki& 0.02 =ik
15| 287\ kBRUZDIEEW| me L | 0.0002 k& | 0.0002 k% | 0.0002 k% | 0.0002 & | 0.0002 i
16| 22| LY RUZOEEY| mesL| 0.01 R 0.01 k& 0.01 k& 0.01 k& 0.01 ki&
17| 262|  +5soozFLy| me L | 0.001 k& | 0.001 ki | 0.001 k& | 0.001 k& | 0.001 ki
18| 268 *;?‘j’;*:ﬁfg“‘) m L | 0.006 k& | 0.006 =& | 0.006 k& | 0.006 =& | 0.006 k&
19| 272| 8 & = t#£ & | moL| 0.01 kE | 001 ki | 001 kF | 0.01 kE | 0.01 ki
20 279{ 1,1, 1-+ysnmzsy| mesL| 0.001 K 0.001 ki 0.001 ki 0.001 k& 0.001 k&
21| 280[ 1,1,2-+ysnnzsy| m L | 0.006 =X 0.006 ki 0.006 ki 0.006 ki 0.006 ki
2| 28|rysoozFLy| msL]| 0001 KiE 0.001 ki 0.001 ki 0.001 ki 0.001 ki
23| 32|MERVEOEMEEY me L] 0.01 XK 0.01 ki 0.01 ki 0.01 K| 0.01 K&
u| o B EAFRS e ] 05 kil [ 05 k@ | 05 k@ | 05 kil [ 05 Xk
25| 4000 R L £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
26 405\ £ 5 F £ & ¥ | mL 0.04 0.05 0.04 0.04 0.043
27 46| P ¢ B me~L | 0.0005 5% | 0.0005 k% | 0.0005 k& | 0.0005 & | 0.0005 i
28| M2|R B URUZDIEEY| me L 0.02 0.01 K 0.02 0.02 0.015
29| 632|1,2-v s ooxzFL | msL| 0.04 K& 0.04 X\ 0.04 X\ 0.04 Xki& 0.04 k&
|67 MRz EY| L] 0.01 K 0.01 R 0.01 K 0.01 K 0.01 K

KBUE~RBILERGNBESERERESED DAEICL YHHKDFRREEZRELBEICEVT. TOREVPLIRESEZOEERFETHS

CETHY. TRHShABWI L) EHBT,

AN |
NP2 B O o & W OB HEHE (MUK~ DHEH) [EHSIE
11 | HMDKBEHEIEEY| 347,779 x 0.048 /1000 = 17 kg ( 16.69 kg)
20(272| @A K & & & 347,719 x /1000 = kg ( 0 kg)
281405 I 5 ¥ It & B 347,719  x 0.043 /1000 = 15 kg ( 14.95 kg)
0|412|RVAVRVEDILEED| 347,779 x 0.015 /1000 = 5.2 kg ( 5.217 kg)




RMSERE

il

5417, 995

3
m

BRKPOMERE (F4RBOKERERER)

L T 5H 8A KL 2R EEBIE
1| 1 |EwokEtikan| L 0.05 0.05 0.05 0.05 0. 050
2| 48 E P N meL | 0.1 R 0.1 R 0.1 R 0.1 Rt 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 X\ 0.02 X\ 0.02 k& 0.02 X\
9140 m % 4 % & | me| 0.002 kF | 0.002 k& | 0.002 ki | 0.002 k#F | 0.002 k&
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1| 157|1,-cso0nx5>| m | 0.004 k& | 0.004 ki | 0004 k& | 0.004 k& | 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13179/ Db - D moL | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k&
14186 B £ *» F L > | m L] 0.02 K& 0.02 =ik 0.02 ki 0.02 =ki& 0.02 =ik
15| 287\ kBRUZDIEEW| me L | 0.0002 k& | 0.0002 k% | 0.0002 k% | 0.0002 & | 0.0002 i
16| 22| LY RUZOEEY| mesL| 0.01 R 0.01 k& 0.01 k& 0.01 k& 0.01 ki&
17| 262|  +5soozFLy| me L | 0.001 k& | 0.001 ki | 0.001 k& | 0.001 k& | 0.001 ki
18| 268 *;?‘j’;*:ﬁfg“‘) m L | 0.006 k& | 0.006 =& | 0.006 k& | 0.006 =& | 0.006 k&
19| 272| 88 K & £ & | mL 0.01 0. 01 0. 01 0.02 0.013
20 279{ 1,1, 1-+ysnmzsy| mesL| 0.001 K 0.001 ki 0.001 ki 0.001 k& 0.001 k&
21| 280[ 1,1,2-+ysnnzsy| m L | 0.006 =X 0.006 ki 0.006 ki 0.006 ki 0.006 ki
2| 28|rysoozFLy| msL]| 0001 KiE 0.001 ki 0.001 ki 0.001 ki 0.001 ki
23| 32|MERVEOEMEEY me L] 0.01 XK 0.01 ki 0.01 ki 0.01 K| 0.01 K&
u| o B EAFRS e ] 05 kil [ 05 k@ | 05 k@ | 05 kil [ 05 Xk
25| 4000 R L £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
26 405\ £ 5 F £ & ¥ | mL 0.03 0.03 0.04 0.04 0.035
27 46| P ¢ B me~L | 0.0005 5% | 0.0005 k% | 0.0005 k& | 0.0005 & | 0.0005 i
28| a2 AVRUEDIEEY| meL 0.02 0.01 0.01 0.03 0.018
29| 632|1,2-v s ooxzFL | msL| 0.04 K& 0.04 X\ 0.04 X\ 0.04 Xki& 0.04 k&
|67 MRz EY| L] 0.01 K 0.01 R 0.01 K 0.01 K 0.01 K

KBUE~RBILERGNBESERERESED DAEICL YHHKDFRREEZRELBEICEVT. TOREVPLIRESEZOEERFETHS

CETHY. TRHShABWI L) EHBT,

A et
NP2 B O o & W OB HEHE (MUK~ DHEH) [EHSIE
11| B XKBEELELSH| 547,995 x 0050 /1000 = 27 kg ( 21.4ke)
20(272| A K & #% & 547,995 x  0.013 /1000 = 7.1 kg ( 7.124 kg)
281405 I 5 ¥ It & B 547,995 x 0.035 /1000 = 19 kg ( 19.18 kg)
0[412|RVAVRVEDIEEH| 547,995 x 0.018 /1000 = 9.9 kg ( 9.864 kg)




RMSERE

496, 918

3
m

BRKPOMERE (F4RBOKERERER)

L T 5H 8A KL 2R EEBIE
1| 1 |EwokEtikan| L 0.05 0.06 0.06 0. 06 0. 058
2| 48 E P N meL | 0.1 R 0.1 R 0.1 R 0.1 Rt 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 X\ 0.02 X\ 0.02 k& 0.02 X\
9140 m % 4 % & | me| 0.002 kF | 0.002 k& | 0.002 ki | 0.002 k#F | 0.002 k&
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1| 157|1,-cso0nx5>| m | 0.004 k& | 0.004 ki | 0004 k& | 0.004 k& | 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13179/ Db - D moL | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k&
14186 B £ *» F L > | m L] 0.02 K& 0.02 =ik 0.02 ki 0.02 =ki& 0.02 =ik
15| 287\ kBRUZDIEEW| me L | 0.0002 k& | 0.0002 k% | 0.0002 k% | 0.0002 & | 0.0002 i
16| 22| LY RUZOEEY| mesL| 0.01 R 0.01 k& 0.01 k& 0.01 k& 0.01 ki&
17| 262| # r5smRzFLY| me L | 0.001 k@ | 0.001 k& | 0.001 k& | 0.001 & | 0.001 k&
18| 268 *;?‘j’;*:ﬁfg“‘) m L | 0.006 k& | 0.006 =& | 0.006 k& | 0.006 =& | 0.006 k&
19) 272| 80 & 2 f#£ & | mesL| 001 K& | 001 ki 0.01 0.01 k& 0. 0025
20 279{ 1,1, 1-+ysnmzsy| mesL| 0.001 K 0.001 ki 0.001 ki 0.001 k& 0.001 k&
21| 280[ 1,1,2-+ysnnzsy| m L | 0.006 =X 0.006 ki 0.006 ki 0.006 ki 0.006 ki
2| 28|rysoozFLy| msL]| 0001 KiE 0.001 ki 0.001 ki 0.001 ki 0.001 ki
23| 32|MERVEOEMEEY me L] 0.01 XK 0.01 ki 0.01 ki 0.01 K| 0.01 K&
u| o B EAFRS e ] 05 kil [ 05 k@ | 05 k@ | 05 kil [ 05 Xk
25] 4000 R ¥ £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
26 405\ £ 5 F £ & ¥ | mL 0.24 0.18 0.32 0.3 0. 26
27 46| P ¢ B me~L | 0.0005 5% | 0.0005 k% | 0.0005 k& | 0.0005 & | 0.0005 i
28| M2|R B URUZDIEEY| me L 0.02 0. 01 0.01 K 0.02 0.013
29| 632|1,2-v s ooxzFL | msL| 0.04 K& 0.04 X\ 0.04 X\ 0.04 Xki& 0.04 k&
|67 MRz EY| L] 0.01 K 0.01 R 0.01 K 0.01 K 0.01 K

KBUE~RBILERGNBESERERESED DAEICL YHHKDFRREEZRELBEICEVT. TOREVPLIRESEZOEERFETHS

CETHY. TRHShABWI L) EHBT,

NP2 B O o & W OB HEHE (MUK~ DHEH) [EHSIE

11 | EHMDKEBEHEIEEY| 496918 x 0.058 /1000 = 29 kg ( 28.82 kg)
20(272| @A K & & & 496,918 x 0. 003 /1000 = 1.2 kg ( 1.242 kg)
281405 I 5 ¥ It & B 496,918 x 0. 260 /1000 = 130 kg (129.2 kg)
0|412|RVAVRVEDILEH| 496,918 x 0.013 /1000 = 6.5 kg ( 6.46 kg)




RMSERE

4

266, 930

3
m

BRKPOMERE (F4RBOKERERER)

L T 5H 8A KL 2R EEBIE
1| 1 |EwokEtikan| L 0.05 0.05 0.04 0.04 0. 045
2| 48 E P N meL | 0.1 R 0.1 R 0.1 R 0.1 Rt 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 X\ 0.02 X\ 0.02 k& 0.02 X\
9140 m % 4 % & | me| 0.002 kF | 0.002 k& | 0.002 ki | 0.002 k#F | 0.002 k&
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1| 157|1,-cso0nx5>| m | 0.004 k& | 0.004 ki | 0004 k& | 0.004 k& | 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13179/ Db - D moL | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k&
14186 B £ *» F L > | m L] 0.02 K& 0.02 =ik 0.02 ki 0.02 =ki& 0.02 =ik
15| 287\ kBRUZDIEEW| me L | 0.0002 k& | 0.0002 k% | 0.0002 k% | 0.0002 & | 0.0002 i
16| 22| LY RUZOEEY| mesL| 0.01 R 0.01 k& 0.01 k& 0.01 k& 0.01 ki&
17| 262|  +5soozFLy| me L | 0.001 k& | 0.001 ki | 0.001 k& | 0.001 k& | 0.001 ki
18| 268 *;?‘j’;*:ﬁfg“‘) m L | 0.006 k& | 0.006 =& | 0.006 k& | 0.006 =& | 0.006 k&
19| 272| 8 & = t#£ & | moL| 0.01 kE | 001 ki | 001 kF | 0.01 kE | 0.01 ki
20 279{ 1,1, 1-+ysnmzsy| mesL| 0.001 K 0.001 ki 0.001 ki 0.001 k& 0.001 k&
21| 280[ 1,1,2-+ysnnzsy| m L | 0.006 =X 0.006 ki 0.006 ki 0.006 ki 0.006 ki
2| 28|rysoozFLy| msL]| 0001 KiE 0.001 ki 0.001 ki 0.001 ki 0.001 ki
23| 32|MERVEOEMEEY me L] 0.01 XK 0.01 ki 0.01 ki 0.01 K| 0.01 K&
u| o B EAFRS e ] 05 kil [ 05 k@ | 05 k@ | 05 kil [ 05 Xk
25| 4000 R L £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
26 405\ £ 5 F £ & ¥ | mL 0.17 0.17 0.16 0.16 0.17
27 46| P ¢ B me~L | 0.0005 5% | 0.0005 k% | 0.0005 k& | 0.0005 & | 0.0005 i
28| a2 AVRUEDIEEY| meL 0.01 0.01 0.01 0.01 0.010
29| 632|1,2-v s ooxzFL | msL| 0.04 K& 0.04 X\ 0.04 X\ 0.04 Xki& 0.04 k&
|67 MRz EY| L] 0.01 K 0.01 R 0.01 K 0.01 K 0.01 K

KBUE~RBILERGNBESERERESED DAEICL YHHKDFRREEZRELBEICEVT. TOREVPLIRESEZOEERFETHS

CETHY. TRHShABWI L) EHBT,

[+ |
NP2 B O o & W OB HEHE (MUK~ DHEH) [EHSIE
11| B XKBEEILESH| 266930 x 0045 /1000 = 12 kg (12.01 ke)
201272| A K B & & 266,930 x /1000 = kg ( 0 kg)
281405 I 5 ¥ It & B 266,930 x 0.170 /1000 = 45 kg ( 45.38 kg)
0|412|RVAVRVEDILEH| 266,930 x 0.010 /1000 = 2.7 kg ( 2.669 kg)




RMSERE

]

451, 644

3
m

BRKPOMERE (F4RBOKERERER)

L T 5H 8A KL 2R EEBIE
1| 1 |EwokEtikan| L 0.06 0.06 0.05 0. 06 0. 058
2| 48 E P N meL | 0.1 R 0.1 R 0.1 R 0.1 Rt 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 X\ 0.02 X\ 0.02 k& 0.02 X\
9140 m % 4 % & | me| 0.002 kF | 0.002 k& | 0.002 ki | 0.002 k#F | 0.002 k&
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1| 157|1,-cso0nx5>| m | 0.004 k& | 0.004 ki | 0004 k& | 0.004 k& | 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13179/ Db - D moL | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k&
14186 B £ *» F L > | m L] 0.02 K& 0.02 =ik 0.02 ki 0.02 =ki& 0.02 =ik
15| 287\ kBRUZDIEEW| me L | 0.0002 k& | 0.0002 k% | 0.0002 k% | 0.0002 & | 0.0002 i
16| 22| LY RUZOEEY| mesL| 0.01 R 0.01 k& 0.01 k& 0.01 k& 0.01 ki&
17| 262|  +5soozFLy| me L | 0.001 k& | 0.001 ki | 0.001 k& | 0.001 k& | 0.001 ki
18| 268 *;?‘j’;*:ﬁfg“‘) m L | 0.006 k& | 0.006 =& | 0.006 k& | 0.006 =& | 0.006 k&
19| 22| 8 K & % & | me L 0.02 0.01 k& | 0.01 k& | 0.01 k& 0. 0050
20 279{ 1,1, 1-+ysnmzsy| mesL| 0.001 K 0.001 ki 0.001 ki 0.001 k& 0.001 k&
21| 280[ 1,1,2-+ysnnzsy| m L | 0.006 =X 0.006 ki 0.006 ki 0.006 ki 0.006 ki
2| 28|rysoozFLy| msL]| 0001 KiE 0.001 ki 0.001 ki 0.001 ki 0.001 ki
23| 32|MERVEOEMEEY me L] 0.01 XK 0.01 ki 0.01 ki 0.01 K| 0.01 K&
u| o B EAFRS e ] 05 kil [ 05 k@ | 05 k@ | 05 kil [ 05 Xk
25| 4000 R L £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
26 405\ £ 5 F £ & ¥ | mL 0.04 0.04 0.04 0.04 0. 040
27 46| P ¢ B me~L | 0.0005 5% | 0.0005 k% | 0.0005 k& | 0.0005 & | 0.0005 i
28| a2 AVRUEDIEEY| meL 0.01 0.01 0.01 0.02 0.013
29| 632|1,2-v s ooxzFL | msL| 0.04 K& 0.04 X\ 0.04 X\ 0.04 Xki& 0.04 k&
|67 MRz EY| L] 0.01 K 0.01 R 0.01 K 0.01 K 0.01 K

KBUE~RBILERGNBESERERESED DAEICL YHHKDFRREEZRELBEICEVT. TOREVPLIRESEZOEERFETHS

CETHY. TRHShABWI L) EHBT,

[fE
NP2 B O o & W OB HEHE (MUK~ DHEH) [EHSIE
1|1 | EBE#ROKBEHEIEEEY| 451,644 x 0.058 /1000 = 26 kg ( 26.2 kg)
20(272| @A K & & & 451,644 x 0. 005 /1000 = 23 kg (1 2.258 kg)
281405 I 5 ¥ It & B 451,644 x 0.040 /1000 = 18 kg ( 18.07 kg)
0|412|RVAVRVEDILEY| 451,644 x 0.013 /1000 = 5.9 kg ( 5.871 kg)




RMSERE

155, 444

3
m

BRKPOMERE (F4RBOKERERER)

L T 5H 8A KL 2R EEBIE
1| 1 |EwokEtikan| L 0.06 0.06 0.05 0.04 0. 053
2| 48 E P N meL | 0.1 R 0.1 R 0.1 R 0.1 Rt 0.1 Rt
s | B F ST AR we | 0005 skiE | 0.005 sk | 0.005 kiE [ 0.005 ki | 0.005 ki
dl | s R U et 001 ki | 001 kE | 001 k& | 001 k& | 001 K@
5| e8| Ao o Lfam| ol | 002 K | 002 kE | 002 ki | 002 kiEm | 002 X
6113 > = © o mg/L | 0.003 3R 0.003 ki 0.003 ki 0.003 ki 0.003 ki
T| Mmoo eam| el] 0.1 i 0.1 i 0.1 R 0.1 R 0.1 i
gl | F+r ~vhnI|m] 002 XK 0.02 X\ 0.02 X\ 0.02 k& 0.02 X\
9140 m % 4 % & | me| 0.002 kF | 0.002 k& | 0.002 ki | 0.002 k#F | 0.002 k&
10 150 1,4- >+ 4 > | m | 005 3RiF 0.05 ki 0.05 ki 0.05 k& 0.05 k&
1| 157|1,-cso0nx5>| m | 0.004 k& | 0.004 ki | 0004 k& | 0.004 k& | 0.004 ki
12018k E=y F>|m| 002 XKiF 0.02 ki 0.02 ki 0.02 =ki& 0.02 ki
13179/ Db - D moL | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k& | 0.002 k&
14186 B £ *» F L > | m L] 0.02 K& 0.02 =ik 0.02 ki 0.02 =ki& 0.02 =ik
15| 287\ kBRUZDIEEW| me L | 0.0002 k& | 0.0002 k% | 0.0002 k% | 0.0002 & | 0.0002 i
16| 22| LY RUZOEEY| mesL| 0.01 R 0.01 k& 0.01 k& 0.01 k& 0.01 ki&
17| 262|  +5soozFLy| me L | 0.001 k& | 0.001 ki | 0.001 k& | 0.001 k& | 0.001 ki
18| 268 *;?‘j’;*:ﬁfg“‘) m L | 0.006 k& | 0.006 =& | 0.006 k& | 0.006 =& | 0.006 k&
19) 272| 80 & 2 f#£ & | mesL| 001 K& | 001 ki 0.01 0.001 ki 0.0025
20 279{ 1,1, 1-+ysnmzsy| mesL| 0.001 K 0.001 ki 0.001 ki 0.001 k& 0.001 k&
21| 280[ 1,1,2-+ysnnzsy| m L | 0.006 =X 0.006 ki 0.006 ki 0.006 ki 0.006 ki
2| 28|rysoozFLy| msL]| 0001 KiE 0.001 ki 0.001 ki 0.001 ki 0.001 ki
23| 32|MERVEOEMEEY me L] 0.01 XK 0.01 ki 0.01 ki 0.01 K| 0.01 K&
u| o B EAFRS e ] 05 kil [ 05 k@ | 05 k@ | 05 kil [ 05 Xk
25| 4000 R L £ v mL| 0.01 =K 0.01 k& 0.01 =ki& 0.01 kiR 0.01 kiR
26 405\ £ 5 F £ & ¥ | mL 0.03 0.09 0.04 0.09 0.063
27 46| P ¢ B me~L | 0.0005 5% | 0.0005 k% | 0.0005 k& | 0.0005 & | 0.0005 i
28| 2|2 o HUoRUZEOEEY| mesL | 0.01 K 0.01 k& 0.01 k& 0.01 ki 0.01 ki
29| 632|1,2-v s ooxzFL | msL| 0.04 K& 0.04 X\ 0.04 X\ 0.04 Xki& 0.04 k&
|67 MRz EY| L] 0.01 K 0.01 R 0.01 K 0.01 K 0.01 K

KBUE~RBILERGNBESERERESED DAEICL YHHKDFRREEZRELBEICEVT. TOREVPLIRESEZOEERFETHS

CETHY. TRHShABWI L) EHBT,

N
NP2 B O o & W OB HEHE (MUK~ DHEH) [EHSIE
11 | BHMDKEBEHEIEEY| 155444 x 0. 053 /1000 = 8.2 kg (1 8.239 kg)
20(272| A K & #% & 155,444 x  0.003 /1000 = 039 kg (10.389 ke)
281405 I 5 ¥ It & B 155,444  x 0.063 /1000 = 9.8 kg ( 9.793 kg)
30 |412(R VAV RUVEDIEEH| 155 444 x /1000 = ke ( 0 kg)




